
12 www.ricelake.com    |   Phone: 800-472-6703 
An ISO 9001:2015 Accredited Company   © 2025 Rice Lake Weighing Systems   1/25   Prices and specifications subject to change without notice. Visit ricelake.com for current prices.

Order Information	 Picture is a representation of actual product

Load Rating Part # Price
Static 10,000 lbs Dynamic 4,000 lbs 120959 Consult

Item # Part # Description Price Kit Qty.
1 115205 Bearing Plate Consult 1
2 114242 Bolt, 3/4-16 x 2-1/2 Consult 2
3 114243 Washer, 3/4 Consult 2
4 120959 Load Cell, RLD-10K Consult 1

LOAD CELL MOUNT

RLD-10K Mounting Kit
Dynamic Application Weigh Modules

Specifications
Full Scale Output: 

3.0 mV/V at 10,000 lb
Output Resistance: 

700 (nominal)
Input Resistance: 

780 (nominal)
Material/Finish: 

Alloy steel
Temperature: 

14° F to 104° F (-10° C to 40° C)
Rated Excitation: 

5-15 VDC
Non-linearity: 

±0.03% full scale
Insulation Resistance: 

10 gigohms at 50 VDC
Seal Type: 

Environmentally sealed, IP67
Connector Type: 

Amphenol, 5-pin (male)
Connection Pin Out: 

A - Excitation + 
B - Signal + 
C - Signal - 
D - Excitation - 
E - Shield

Warranty: 
One-year limited warranty

 10.25 

 1.00 

 3.13 

 2.50 

 8.75 

 .88 

 .75 

 3.13  4.00 

2X 3/4-10 UNC 2A THRU ALL

 1.75 

 1.63 

2

3

1

4

REVISION
REV ECO DESCRIPTION INIT DATE
A - ENGINEERING RELEASE JRN 8/1/2019

ITEM 
NO. PART NO. DESCRIPTION QTY.

1 115205 BEARING PLATE, 1 X 1.75 X 10.25 1
2 114242 SCREW, 3/4-16NF X 2-1/2, HEX 2
3 114243 3/4" FLAT WASHER 2
4 120959 LOAD CELL, RLDEB-H-10K 1

A  REV P/N

DESIGNED BY / DATE

J.NELSON
08/01/2019

PEER APROVAL/ DATE

J.NELSON
08/01/2019

 5.67
 ESTIMATED WEIGHT (POUNDS)

RLDEB-H-10K CELL & BEARING PLATE

UNLESS OTHERWISE SPECIFIED
UNITS TO BE INCHES

ALL THREADS TO BE CLASS 2
ALL DIMENSIONS APPLICABLE

AFTER TREATMENT

1 OF 11:2
DO NOT SCALE

SURFACE
DRAWING

DRAWING TOLERANCES
TOLERANCES

UNLESS OTHERWISE SPECIFIED

SEE BOM

DRAWN BY / DATE

J.NELSON
08/01/2019

 SHEET

 THIRD ANGLE PROJECTION

 SCALE

120959_KIT_CUSTOMER

 MATERIAL

 TREATMENT

NONE

 DESCRIPTION

THIS DRAWING AND INFORMATION CONTAINED 
HEREIN, IS AND REMAINS THE PROPERTY OF RICE 

LAKE WEIGHING SYSTEMS INC., HEREINAFTER 
REFERRED TO AS RLWS.  IT MAY BE USED ONLY FOR 

RLWS’ PROPOSAL AND/OR ITS CUSTOMERS’ 
ORDERS.  IT SHALL NOT BE DISCLOSED OR COPIED 
WITHOUT RLWS SPECIFIC WRITTEN CONSENT AND 

SHALL BE IMMEDIATELY RETURNED UPON REQUEST.

FINISH

 MINIMUM CRANE  CAPACITY:

 NUMBER OF CRANES:

±.01

±1ANGLE: 
±.005 .XXX: 

  .XX: 

 10.25 

 1.00 

 3.13 

 2.50 

 8.75 

 .88 

 .75 

 3.13  4.00 

2X 3/4-10 UNC 2A THRU ALL

 1.75 

 1.63 

2

3

1

4

REVISION
REV ECO DESCRIPTION INIT DATE
A - ENGINEERING RELEASE JRN 8/1/2019

ITEM 
NO. PART NO. DESCRIPTION QTY.

1 115205 BEARING PLATE, 1 X 1.75 X 10.25 1
2 114242 SCREW, 3/4-16NF X 2-1/2, HEX 2
3 114243 3/4" FLAT WASHER 2
4 120959 LOAD CELL, RLDEB-H-10K 1

A  REV P/N

DESIGNED BY / DATE

J.NELSON
08/01/2019

PEER APROVAL/ DATE

J.NELSON
08/01/2019

 5.67
 ESTIMATED WEIGHT (POUNDS)

RLDEB-H-10K CELL & BEARING PLATE

UNLESS OTHERWISE SPECIFIED
UNITS TO BE INCHES

ALL THREADS TO BE CLASS 2
ALL DIMENSIONS APPLICABLE

AFTER TREATMENT

1 OF 11:2
DO NOT SCALE

SURFACE
DRAWING

DRAWING TOLERANCES
TOLERANCES

UNLESS OTHERWISE SPECIFIED

SEE BOM

DRAWN BY / DATE

J.NELSON
08/01/2019

 SHEET

 THIRD ANGLE PROJECTION

 SCALE

120959_KIT_CUSTOMER

 MATERIAL

 TREATMENT

NONE

 DESCRIPTION

THIS DRAWING AND INFORMATION CONTAINED 
HEREIN, IS AND REMAINS THE PROPERTY OF RICE 

LAKE WEIGHING SYSTEMS INC., HEREINAFTER 
REFERRED TO AS RLWS.  IT MAY BE USED ONLY FOR 

RLWS’ PROPOSAL AND/OR ITS CUSTOMERS’ 
ORDERS.  IT SHALL NOT BE DISCLOSED OR COPIED 
WITHOUT RLWS SPECIFIC WRITTEN CONSENT AND 

SHALL BE IMMEDIATELY RETURNED UPON REQUEST.

FINISH

 MINIMUM CRANE  CAPACITY:

 NUMBER OF CRANES:

±.01

±1ANGLE: 
±.005 .XXX: 

  .XX: 

 10.25 

 1.00 

 3.13 

 2.50 

 8.75 

 .88 

 .75 

 3.13  4.00 

2X 3/4-10 UNC 2A THRU ALL

 1.75 

 1.63 

2

3

1

4

REVISION
REV ECO DESCRIPTION INIT DATE
A - ENGINEERING RELEASE JRN 8/1/2019

ITEM 
NO. PART NO. DESCRIPTION QTY.

1 115205 BEARING PLATE, 1 X 1.75 X 10.25 1
2 114242 SCREW, 3/4-16NF X 2-1/2, HEX 2
3 114243 3/4" FLAT WASHER 2
4 120959 LOAD CELL, RLDEB-H-10K 1

A  REV P/N

DESIGNED BY / DATE

J.NELSON
08/01/2019

PEER APROVAL/ DATE

J.NELSON
08/01/2019

 5.67
 ESTIMATED WEIGHT (POUNDS)

RLDEB-H-10K CELL & BEARING PLATE

UNLESS OTHERWISE SPECIFIED
UNITS TO BE INCHES

ALL THREADS TO BE CLASS 2
ALL DIMENSIONS APPLICABLE

AFTER TREATMENT

1 OF 11:2
DO NOT SCALE

SURFACE
DRAWING

DRAWING TOLERANCES
TOLERANCES

UNLESS OTHERWISE SPECIFIED

SEE BOM

DRAWN BY / DATE

J.NELSON
08/01/2019

 SHEET

 THIRD ANGLE PROJECTION

 SCALE

120959_KIT_CUSTOMER

 MATERIAL

 TREATMENT

NONE

 DESCRIPTION

THIS DRAWING AND INFORMATION CONTAINED 
HEREIN, IS AND REMAINS THE PROPERTY OF RICE 

LAKE WEIGHING SYSTEMS INC., HEREINAFTER 
REFERRED TO AS RLWS.  IT MAY BE USED ONLY FOR 

RLWS’ PROPOSAL AND/OR ITS CUSTOMERS’ 
ORDERS.  IT SHALL NOT BE DISCLOSED OR COPIED 
WITHOUT RLWS SPECIFIC WRITTEN CONSENT AND 

SHALL BE IMMEDIATELY RETURNED UPON REQUEST.

FINISH

 MINIMUM CRANE  CAPACITY:

 NUMBER OF CRANES:

±.01

±1ANGLE: 
±.005 .XXX: 

  .XX: 

 10.25 

 1.00 

 3.13 

 2.50 

 8.75 

 .88 

 .75 

 3.13  4.00 

2X 3/4-10 UNC 2A THRU ALL

 1.75 

 1.63 

2

3

1

4

REVISION
REV ECO DESCRIPTION INIT DATE
A - ENGINEERING RELEASE JRN 8/1/2019

ITEM 
NO. PART NO. DESCRIPTION QTY.

1 115205 BEARING PLATE, 1 X 1.75 X 10.25 1
2 114242 SCREW, 3/4-16NF X 2-1/2, HEX 2
3 114243 3/4" FLAT WASHER 2
4 120959 LOAD CELL, RLDEB-H-10K 1

A  REV P/N

DESIGNED BY / DATE

J.NELSON
08/01/2019

PEER APROVAL/ DATE

J.NELSON
08/01/2019

 5.67
 ESTIMATED WEIGHT (POUNDS)

RLDEB-H-10K CELL & BEARING PLATE

UNLESS OTHERWISE SPECIFIED
UNITS TO BE INCHES

ALL THREADS TO BE CLASS 2
ALL DIMENSIONS APPLICABLE

AFTER TREATMENT

1 OF 11:2
DO NOT SCALE

SURFACE
DRAWING

DRAWING TOLERANCES
TOLERANCES

UNLESS OTHERWISE SPECIFIED

SEE BOM

DRAWN BY / DATE

J.NELSON
08/01/2019

 SHEET

 THIRD ANGLE PROJECTION

 SCALE

120959_KIT_CUSTOMER

 MATERIAL

 TREATMENT

NONE

 DESCRIPTION

THIS DRAWING AND INFORMATION CONTAINED 
HEREIN, IS AND REMAINS THE PROPERTY OF RICE 

LAKE WEIGHING SYSTEMS INC., HEREINAFTER 
REFERRED TO AS RLWS.  IT MAY BE USED ONLY FOR 

RLWS’ PROPOSAL AND/OR ITS CUSTOMERS’ 
ORDERS.  IT SHALL NOT BE DISCLOSED OR COPIED 
WITHOUT RLWS SPECIFIC WRITTEN CONSENT AND 

SHALL BE IMMEDIATELY RETURNED UPON REQUEST.

FINISH

 MINIMUM CRANE  CAPACITY:

 NUMBER OF CRANES:

±.01

±1ANGLE: 
±.005 .XXX: 

  .XX: 

ONBOARD W
EIGHING 

LOAD CELLS


